20860

745

5960
1490
20860




2.

oS 5 Hol 2 ARE AR 7|58 2 AL o= AJYR

@ 180+ 30 © 560+ 70

© 250 +50 @ 360 + 40

06,860 0060 06000
®e806 (eoase

@6,08065 9
-®>0>0>06




UuAs} 2 ARE AR 752 U 2 AL ofu AU

@ 502 +60 © 485 +70

© 168 +90 ® 348 +50

® 0eed @ ©e0ae @ 0eeoo
@ ceeo BGeoces

B

@ 502 +60=8---22
© 485+70=6---65
®168+90=1---78
® 348 +50 =6---48




ohg % ol 2 SRt of= AU

® 240+ 30 @ 640 = 80 @800 =10
@ 120=15 ® 720 +90

~&B

D240 +30=38
@640 +80 =38
3 800 =+ 10 = 80
@120+15=28
® 720+ 90 =8




b2l F Mol O >, < B =%

450 x 21 O 510 x 19

i

vV V¥
0
L
A

450 x 21(= 9450) < 510 X 19(= 9690)




12td o]

2lo

g o] %= 7} 80

?l'
A 2.

A 7

2

13760

b

ul
KO

i

>

i)

1]

o

o

8

—_ —
N o]

oF )

o7 B S

ﬁOZOl

ﬂLma__
o &
B %
Al AN
I~ I~
—




7. e E AR 2 A ol AU

@ 282 %20 @ 812x11 @ 144 x 30

@ 50 % 400 @601 x 36

B

@ 5640
@ 8932
@ 4320
@ 20000
® 21636




®23+-20=1---
@34+20=1---
®36+30=1---
@T7T+40=1---

®89+40=2---




@ 18x3+35=89 @18x4+17=89
® 18x4+16 =89 @ 18x5+17 =89

® 18x5+1=289

~&B

<HA>

(WFe )% (5)+(HHA)
=14 A& F)olBz
18x44+17=289




10. BHolE TS 68 12 27 11 B o] w03 ghch @AY
R PR e R A

> = il
= il
> H=He 57
> =g sA

B
B0l & gtsto] AAE L H= A2 12 Aol 7] o]
128 W o,
68+12=5---8
w2kA 5 70 veo] Mal 877t =t




11, of® 52 482 U o), Usl X7k 8 & 9l 4 Fol i g 2 5k
Aufelx) 5 2.

U A Uit Smch Zolof stoz
18 BT AL £ F 7MY 2 Sk 470l




12. 538m9 L et AXE x4stE 0 gk Az gt S 2
Sh=tl 40 m 7t E @5k, AAHE 2 AT ¢ QT e kT
2 m AA] FoHA L

i
rlo o2

B 37

Ch "
[— Y

=

v V. v v
0
o
—_
w
o
R

02
o
—
o
B




13. dAHolu FdoA AHHE @ Hofl= 389 7 T, 230 527 74
syt @0l Tdof| A T AFS §F AFAtof 40 704 Ho
9 27t =2, B 7 EeA] AR AL

> = s
> = A
> =e 2247
> == 367

o AFtO] 4 389 + 527 = 916(7H)
916 =40 = 22---36°| B2
224217} E| 11, 36 7] 7 Gt}




4l




[ Ix28=1352t5}4
[ ]=135+28=4..-23
[ x28>1350lB2[ >4

wetA] [Jotell Solg 4 gl /by ke 4

rr

5.




16. 479 =2} 71E 2,4,6, 72 2 W72 ARRSlo] 7P 2 A AH] 429}
7V 22 & 2tE] 8 ThEo] I F $0] HE F5HA L.

AR 2 A A2 % 776
e O
776 X 22 = 17072




17. (g g) =Ox @ - Ox ©®2= °F

SHA 2.

> E.

> ®Eeh: 14700

B

A
=

630, 82
<42o, 78)
630 x 78 = 49140, 420 x 82 = 34440,
49140 — 34440 = 14700




18.

Ahs Foloha i 48514 255 Fot AL, FXol= Fol
g5 w5 297k A 25 Fot FAF YT Aekel Fxlo17F H2
Foleh2 »F 2 npe] Q7] FSHAl L

> g a2
[> & 19550 ot

(227t e Fo]at )= 485 x 25 = 12125
(BRo17F AL Fol8t 47)= 297 x 25 = 7425
— 12125 + 7425 = 19550(72])




19. =97} 819m ¢ 25 21m7tA o2 R
B9 175 F|§)of 51=4] oWi.
> = LT

[> ®EH: 39012

819 + 21 = 39 (1%F)




20. o2 FAA O O AR thE LAkl L, ﬂﬂJ[::]_oo
obd S22 WeIAL S5 UTh O O] £A4E A=t 2 F5HA 2

OO
X QO
AN
OO0
[5/5 2 G)6]

vV V. v Vv
04
U (L 1
\]

02
L
=

B

4%x4=16,6x6=3602&

©O=2 4 E= 6% sfLfolth.

OxDY Ao A9 274 BE 520 F9E FEr
TXT7=490|B& @2 70|t}

wabA FAAlS AASHH 57276 ©] E 1L 57276 + 74 = 774
ojBZ ©2 4°|th




